
1) Find the mode of the following set of data:

9, 9, 9, 9, 44, 44, 22, 22, 22, 22, 22, 
22, 11, 11, 11, 11, 11

Answer: ____________

2) Simplify 7:15

Answer: ____________

3) Round 4.7942 to 1 decimal places.

Answer: ____________

4) Find the range of the following set of data:

0.9, 4, 6, 0.4, 0.6, 8

Answer: ____________

5) An amount was increased by 1% to 
$117.00. Find the original amount.

Answer: ____________

6) Share 40 in the ratio 1:3

Answer: ____________

7)
Find the next three numbers in 
the sequence
45,50,150,155,465,470,1410__,__,__

Answer: ____________

8) 50% of 16

Answer: ____________

9) 84 + 74

Answer: ____________

10) Decrease 252 by 1/84

Answer: ____________

11) Decrease 147 by 1/21

Answer: ____________

12) Round 11.88617 to 1 significant 
figures.

Answer: ____________

13) 35 + (-16)

Answer: ____________

14) 172 - 112 - 12

Answer: ____________

15) 58 + 77.3

Answer: ____________
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16) 58 + 77.3

Answer: ____________

17) 58 + 77.3

Answer: ____________

18) Find the value of 's' by completing 
the square of the following equation: 
2 + 10s + 16

Answer: ____________

19) 17000 ÷ 1000

Answer: ____________

20) Convert the following improper 
fraction 29/10 + 11/2 into a mixed 
number

Answer: ____________

Total: ___ / 20
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Answers:

1) 22 2) 7 : 15 3) 4.8 4) 7.6 5) $115.84 6) 10 : 30 7) 1415,4245,4250,

8) 8 9) 158 10) 249 11) 140 12) 10 13) 19 14) 156

15) 135.3 16) 135.3 17) 135.3 18) (s + 5)2 - 9 19) 17 20) 42/5
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